DBALANCING CHEMICAL EQUATIONS \X/ORKSHEE'I;

Balance the following chemical equations

) AlBr,+ _ KBr> Al

2) P+ Br,>_ PBr,

3y Lcl+_ Br,»>_  LiBr+__ (]

& _ PbBr,+ _ HCl>_ __ HBr+____ PbCl

55  CoBry+__ CaSO,»> __ CaBr,+__ Co,SO,),
) NaP+_ CaF,»_  NaF+__ (Cap,

7 Mn+____ _HI>_____H+____ Mnl

8  LiyPO,+_ NaBr>__ NaPO,+__ LiBr

9  CaF,+____ LiSO,» __ CaSO,+ ___LiF
10 HBr+____ Mg(OH),> _ MgBr,+ ___ HO
1) LINO,+__ CaBr,>__ Ca(NO,),+__  LiBr
1) Si(OH),+ ___ NaBr> ____ SiBr,+ ____ NaOH
13) NaCN+__ CuCO,>__ NaNO,+__ Cu(CN),
14 NaNO,+ __ PbO->____ Pb(NO),+ ___ NaO
1) Agl+_ Fe(CO,),>__ Fe,+_  AgCO,



DBALANCING CHEMICAL EQUATIONS \X/ORKSHEE'I;

Answers
1) 1 AlBr,+_3 KBr>_1 Al
2_1 pP+_6 Br,>_4 PBr,
3 2 LiCl+_1 Br,>_ 2 LiBr+_ 1 Cl
4 1 PbBr,+ 2 HCl>_ 2 HBr+_ 1 PbClL
55_ 2 CoBry+_ 3 CaSO,» _3 CaBr,+_ 1 Co,SO,),
6) 2 NaP+_3 CaF,»_6 NaF+_1 C(Cap,
7 2 Mn+_ 6 HI>_ 3 H+_ 2 Mnl
§ 1 LiPO,+ 3 NaBr> 1 NaPO,+ 3 LiBr
9 1 CaF,+ 1 1iSO,» 1 CaSO,+ 2 LiF
10 2 HBr+_ 1 MgOH),> 1 MgBr,+ 2 HO
1) 2 LINO,+_1 CaBr,>__1 Ca(NO,),+__2 LiBr
12) 1 Si(OH),+ 4 NaBr> 1 _SiBr,+ 4 NaOH
13) 1 NaCN+_1 CuCO,»>_1 NaNO,+__1 Cu(CN),
14 2 NaNO,+ 1 PbO->_ 1 Pb(NO),+ 1 NaO
156 Agl+_1_ Fe(CO),>_2 Fel,+_3 AgCO,
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